75 G2 CH 6 WS 10 Measurement

Measurement: Worksheet -10

1. A jar holds 3 glasses of milk. How much milk will 2 jars hold?

2. A bucket holds 10 cups of water. How much water will make 3
buckets?

3. A bottle holds 2 cups of water and another bottle B holds 4 cups of
water. Which bottle holds more water by how much.

4. A bottle holds 3 cups of juice Sita drink 1 cup of juice. How much
juice is left in the bottle?

5. A bucket holds 14 mugs of water. Ravi used 4 mugs of water. How
much water is left in the bucket?

6. A bowl holds 2 cups of soup. How many bowls will be required for 8
cups of soup.

7. The capacity of a kettle is 6 cups of tea. Already there are 3 cups of tea
in kettle. How many cups of tea are needed to fill the kettle?

8. 1 bucket holds 8 mugs of water. Another bucket holds 12 mugs of
water. How much water is there in 2 buckets?

9. A glass holds 10 spoons of juice. How much juice will make 3 glasses?
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10. There are 6 members in a family. Sita wants to prepare juice to the
family. A glass holds 2 cups of juice. How many cups of juice she need

to make to serve in glasses?

11. 5 kettles of water is needed to fill the one pail. How many kettles of
water? will fill up 5 such pails.

N

www.thirdapple.in




